1 General Awareness 15 questions, 4 mark for correct ans, no negative marking

Q 1 Which of the following is a Harappan port?
AAffEd § F PF-TT T 8T BT §&0TE © ?

Ops: A Alexandria

e-<an

B. Lothal
GIEGH

C. Mahasthangarh
HERRITTS

D. Nagapattanam
ATTYSAH

Q 2 The British established its first commercial factory at
ST A 37YAT USeT ATUTRSG BREMT dal LTfud fbar ?

Ops: A Surat in 1610

1610, T

B. Amargaon in 1611
1611, 3R

C. Hoogly in 1626

1626, greft

D. Masulipatnam in 1611

1611, AgeitagTH

Q 3 What were the symbols of Indian Nationalism?

VRART ST BT Ufdds T &1 ?

Ops: A Charkha-Khadi
TRET - Gt
B. Ashok Chakra- Talwar
372Mh Tk - deTdR

C. Lathi-Ainak
T3t - VAP
D. None of the above

IR | F BIS 781



Q 4 Which of these statements is TRUE with regard to the poem "Amar Sonar Bangla' penned by
Rabindranath Tagore?

IdigATer TR gRT fodt € fddT IMRIAAR ST ' & oy § fefafad § F o 91 weF 987 & ?

Ops: A. It was Tagore's first ever poem.
g R BT U] pfddr ot |
B. This poem later was adopted by Bangladesh as its national anthem.

S BfgdT Bl 18 W Tt 7 3799 IS &b BY § 379977

C. This poem fetched Tagore the Nobel Prize.
3 PfddT & foiv IR BT Fded REPR feam 7|

D. The poem was a school prayer at Shantiniketan.

g BIdT idfdad H Tdb el bl UTHAT ot |

Q 5 The membership of a Member of Parliament ceases after a consecutive absence for how many days?

FHfdfEd ® 4 fobd & &Y odR 3guikAfd & dTe H9e & e 6l Fedl AT &1 SIdl & ?

Ops: A. 50 days
50 f1

B. 30 days
30 fa

C. 60 days
60 fT

D. 90 days
90 fe&T

Q 6 In which year a National Emergency was declared on the ground of 'internal disturbance'?

oo a¥f ¥ '31Td R 3ugd’ & 3MUR WR Uds IS 3MUTddhIA TNfyd fsar mar &7 ?

Ops: A. 1971
B. 1965
C. 1999
D. 1975



Q 7 Which is the only planet in the Solar System which is not nhamed after a Roman mythological deity?

IR Hed BT THATS Ug BIF AT & ST 719 0T URI0Iek &g & 91 W T8 & ?

Ops: A. Mercury

R
B. Earth
get

C. Neptune

T

D. Uranus

RG]

Q 8 Which of the following is NOT correctly matched?

Frafered ¥ & B 78 BT & gafad 78 & ?
Ops: A. Atomic Minerals Directorate for Exploration and Research-Mumbai
TRHTU] @St 37907 Qd 37U FHeemes - g8
B. Nuclear Fuel Complex - Hyderabad
AT S TRIR - BT
C. Nuclear Power Corporation of India Ltd. -Mumbai

YRR ATHST 31t BRARA fAfies - grrg

D. Heavy Water Board - Mumbai
TS STcf §1E - Jris

Q 9 Which of the following rocks is not "acidic rock"?

frafafad § ¥ s @ ggm "3l TgE" T8 & ?

Ops: A. Granite

DRI
B. Rhyolite
TS
C. Dolerite
SIARTSS

D. Pitchstone
i



Q 10 Recently, BMP - T Terminator was in the news. It is related to -

gl & ° SivAdl-& efiaex T=f o ol Ig defod @ -

Ops: A. Ballistic Missile system
dfcifed Harsa gorett

B. Armored fighting vehicle

S¥IRES ISP AT
C. Assault Rifle
3T IS
D. Frag Grenade
W I8

Q 11 Which of the following is an anti-submarine warfare aircraft of the Indian Navy?

79 & q BT YRdTT F1T BT Teb Ugsst At Ggep fadm € 2

Ops: A. Dornier 228
SIfFaR 228

B. TH - 57
évg - 57

C. UAV Heron
gudt &1

D. Boeing P-81
ST P-81

Q 12 Recently , Indian Air Force test-fired Extended - Range brahmos Missile from which fighter Aircraft?
B & W, YRAI 9 A7 7 6 w181 fan § fararRa-¥s1 seie fimset &1 wlieror fbar?

Ops: A. Sukhoi-30
gare - 30
B. Rafael
Al

C. HF - 24 Marut
UIU% - 24 H¥d

D. Mirage - 2000
fiRTST - 2000




Q 13 Dicommissioned Indian naval ship (INS) Khukri planned to be converted into a museum in which
place
JarfAgd fby ¢ MR RS STeTeT (INS) B BT T JUETed H IR B B AT & ST

7 X2 g1

Ops: A Vishakhapatnam
faemaTaaTq

B. ) Diu
EE]

C. Port Blair
I s’

D. Goa
T

Q 14 What is the name of sixth submarine of the P75 project of the Indian Navy which was launched by at
Mazgaon Dock Ltd?
YR FRAT 1 P75 IRATSHT bl B3 gest BT ATH T & TS weTid gieb feifAde gRT ol febar mam & ?

Ops: A. INS Kalvari

HTSUATH Pefa]
B. INS Khanderi

HTETATH T
C. INS Karanj

ATETATH Bl

D. INS Vagsheer
ITETATH iR



Q 32 Who was the founder of the first search engine called 'Archie'?

'Y TG Ygal 9 Sol &b TLYTIDH P I ?

Ops: A. David Filo

sfds fisal

B. Alan Emtage
T SR

C. Matthew Gray
Heg U

D. Martijn Koster
HIESTT PR

2 English 15 questions, 4 mark for correct ans, no negative marking

Q 1 Select the most appropriate meaning of the given idiom. Like a cakewalk

Ops: A. Smooth surface
B. Pleasant experience
C. Easy task
D. Active

Q 2 Select the most appropriate meaning of the given idiom. A green horn

Ops: A. Uneducated person
B. Inexperienced person
C. Clever person

D. Skilled person

Q 3 Choose the correct meaning of the given idiom. Bag and baggage

Ops: A With burden
B. Without any aim
C. Without happiness

D. With all of one's possessions



Q 4 Select the most appropriate meaning of the given idiom. Break the ice

Ops: A. Make people meeting first time feel uncomfortable
B. Make people meeting first time feel sad
C. Make people meeting first time feel more detached
D. Make people meeting first time feel more comfortable

Q 5 Select the most appropriate meaning of the given idiom. To smell a rat

Ops: A. To have reason to know the presence of a rat
B. To have reason to suspect
C. To know the smell of a rat
D. To learn the smell of a rat

Q 6 Select the most appropriate meaning of the given idiom. Fair and square

Ops: A. Honestly
B. Fair-skinned
C. Being vague
D. Good looking

Q 7 Select the option that can be used as a one-word substitute for the given group of words.
A piece of a living tissue or plant that is transplanted surgically

Ops: A Gratis
B. Gourmet
C. Gracious
D. Graft



Q 8 Select the option that can be used as a one-word substitute for the given group of words.
Plants of a particular region

Ops: A. Flora

B. Flinch
C. Fauna
D. Flotsam

Q 9 Select the option that can be used as a one-word substitute for the given group of words.
One who does something not professionally but for pleasure

Ops: A. Professional
B. Mature
C. Immature
D. Amateur

Q 10 Select the option that can be used as a one-word substitute for the given group of words.
A place where coins and medals are made.

Ops: A. Office

B. Mint
C. Mine
D. Barn

Q 11 Select the INCORRECTLY spelt word.

Ops: A Finery
B. Hiest
C. Cringe
D. Defer



Q 12 Select the INCORRECTLY spelt word.

Ops: A.
B.
C.

D.

Peircing
Sleek
Pie

Itch

Q 13 Choose the incorrectly spelt word.

Ops: A
B.
C.
D.

Slaughter
Cropping
Traffickng

Tyrannical

Q 14 Select the INCORRECTLY spelt word

Ops: A.
B.
C.
D.

Cemetery
Accommodate
Intruder

Necessary

Q 15 Choose the INCORRECTLY spelt word.

Ops: A.
B.
C.
D.

Texture
Slege
Savoury

Tamper



3 Aptitude Test 60 questions, 4 mark for correct ans, no negative marking

Q1 Iftana =1/7, tan B =1/3, then cos 2a is equal to
Ifg tan a =1/7, tan B =1/3, @ cos 2a TR B

Ops: A sin 23

B. sin 4p3
C. sin 3B
D. cos 23

Q 2 Iftan 6 = a/b, then b cos 26 + a sin 20 is equal to
e tan 6 = a/b, then b cos 26 + a sin 20 W& &

Ops: A. a
B. b
C. a/b
D. None
STH I BIS TEl

Q 3 The number of different four digit numbers that can be formed with the digits 2, 3, 4, 7 and using
each digit only once is

37 2, 3, 4 3R 7 Pl Pacl Ueb IR YA &d §Y §9 TR 37e] bl FRIT ST HepA dTei! fafi= T3l &l e

&8 |
Ops: A. 120

B. 96

C. 24

D. 100



Q 4 The third term of a G.P. is 4, the product of the first five terms is
T TOTRR 0Tt BT ARRT U< 4 €, aF Herd T Ual ol oM & |

Ops: A. 1024

B. 256
C. 324
D. 964

Q 5 The coordinates of the foot of the perpendicular from the point (2, 3) on the line are

fig (2, 3) A Y& R G T v & uTa g o R 21

Ops: A. (-6, 5)

B. (5, 6)
C. (-5, 6)
D. (6, 5)

Q 6 Letxl, x2, x3, x4, x5 be the observations with mean m and standard deviation s.
The standard deviation of the observations
kx1, kx2, kx3, kx4, kx5 is
AT AIfSTT U&I0T x1, X2, x3, X4, X5 &1 41 'm' Td A fooed 's' §
ar weron kx1, kx2, kx3, kx4, kx5 T HH® fdae 2 :

Ops: A. k+s
B. sk
C. k/s
D. S



Q 7 Aluminium is used for making cooking utensils. Which of the following properties of aluminium are
responsible for the same?
(i) Good thermal conductivity
(ii) Good electrical conductivity
(iii) Ductility
(iv) High melting point
G b P T g4 H THHAH BH 371dT &1 TIHIH & PI-H ToraH §8b o IRl & ?
(i) 3= 3T TATeAdwar
(ii) 3= fogLd TTetepdl
(i) d=aar
(WEESRIGEIES

Ops: A. (i) and (ii)

(i) aer (i)

B. (i) and (iii)
(i) e (iii)

C. (ii) and (iii)
(i) T (iii)

D. (i) and (iv)
(i) a2 (iv)

Q 8 An element A is soft and can be cut with a knife. This is very reactive to air and cannot be kept open
in air. It reacts vigorously with water. Identify the element from the following
T dcd A’ AT € d2T 3 a1 U BIel 5T HepdT &1 I8 a1g & Hfd 37cafeies fohanelte & aem arg # et g1
3G ST GebdT &1 Tg STl &b 1 Yis 3Mfshar dr &1 FHfdfed § & g9 urg &l ugar-v-

Ops: A. Mg
B. Na
C. P

D. Ca



Q 9 Which among the following alloys contain mercury as one of its constituents?

fefefad § § eF-dt fisrg # 7bd 39, Tob 37a9d & BU | 2T 8?

Ops: A Stainless steel
AT Lid

B. Alnico

C. Solder
Tles?

D. Zinc amalgam
Si 3™

Q 10 A student sitting on the last bench can read the letters written onthe blackboard but is not able to
read the letters written in his textbook. Which of the following statements is correct?
PET H HIH U8 o W dT PIS faenelf eamug W foie 3718RY 61 Ue Hepdl 8, T UTed e H foid 31eR]
B! 781 Ug udT| fF=fcfed ¥ SH-91 Uhed el & ?

Ops: A. The near point of his eyes has receded away

faemelf & 43 &1 e fig 377 ¥ 81 T 8

B. The near point of his eyes has come closer to him
faermeif & 9 &1 e fog 39P U 317 T 8

C. The far point of his eyes has come closer to him
fdermelf & 9 &1 gX fdg 39 U 317 T &

D. The far point of his eyes has receded away
faemelf & 3 BT R Ag TR R A T8

Q 11 Twinkling of stars is due to atmospheric

aRY & fEAfeH &1 BRUT R :

Ops: A. dispersion of light by water droplets
IS T ST gl gRT Tebrel & faagoy

B. refraction of light by different layers of varying refractive indices

qrgHSeT H IRl 39adics! &1 fafi=T TRl GRT YeBT2l BT 3qed
C. scattering of light by dust particles
AGASAI YcT-BUTT GRT TebTLl BT YeplUid

D. internal reflection of light by clouds
el GRT YbT2l BT 3TdRE IR



Q 12 Electrical resistivity of a given metallic wire
depends upon

fopalt U 7Y uTg & AR BT deggd waRTgwdr ik ot & aR

Ops: A. its length
BT TS W
B. its thickness

PI HleTS W

C. its shape
BT TSl W’

D. nature of the material

yeref Y Usfd W)

Q 13 A current of 1 A is drawn by a filament of an electric bulb. Number of electrons passing through a
cross section of the filament in 16 seconds would be roughly
fopeht fagd aea & fohamiic gRT 1 A &t STt 21 flheiie T 3IIRY PIC I 16 Udbe | FaTed Sedagil bl IAT
B @I

Ops: A. 1023

B. 1016
C. 1018
D. 1020

Q 14 If the current I through a resistor is increased by100% (assume that temperature remains
unchanged), the increase in power dissipated will be

Ife ot TfoRTee & garfed uRT ¥ 100% g &R & STY; I8 ATV 1o ara sraRafdd edT & af &ifda 391

Ops: A. 100%
B. 200%
C. 300%
D. 400%



Q 15 Which of the statement is incorrect?

fAefafad et § ¥ B1F-971 B2 et 781 ¢ ?

Ops: A.

All green plants and blue green algae are producers

I & Ol 3R Fa-8 Aare 3dTed BId 3

Green plants get their food from organic compounds

X O 37UAT M1 B ATl T UTed Bd &

Producers prepare their own food from inorganic compounds

3G T 37T YIS 37T s Al ¥ IR &d &

Plants convert solar energy into chemical energy

GIe HR FHoTf Bl IMRIHS Hoil § daed ad &

Q 16 The maximum efficiency of a screw jack is

T U9 i s 31fadsdw &mdr 2|
Ops: A. (1 - sin@)/(1 + sin®)
B. (1 + sin@)/(1 - sin®)
C. (1 - tan@)/(1 + tan®)
D. (1 + tan®)/(1 - tan®)



Q 17 Two blocks 'A' and 'B' of masses 150 kg and 50 kg respectively are connected by means of a string as
shown in the below figure. The tension in all the three strings will be.

2T SATRT BT T dT &t STt 150 fber 3R 50 foar sprer: T fou v fom § fezgmar mar it v & & Ameay
d g gV 81 Tt il ar H o -

Il

THTHT

]

15

” 50 ko
A
0 kg

Ops: A Same
T JHM &N
B. Not Same
T FHT &l &
C. Either A or B
A3drB

D. None of these

IR § F BIs HY &

Q 18 Which of the following statement is incorrect?

9 7 & P I YT TeAd & ?
Ops: A. Force acting in the opposite direction to the motion of the body is called force of friction.
U g1 2RR & Mfd F faudta feem # 31 aor & ot el ST &1
B. Ratio of the limiting friction to the normal reaction is called coefficient of friction.
T wfdfesar & forg {9 fafid aor & 3rgurd avoT & oTies et STaT 2|
C. Machine whose efficiency is 100% is known as an ideal machine.

T T2 ST g&1dT & Uds 31meef T2fiF & ®u # 100% HHT STt B

D. Velocity ratio of a machine is the ratio of load lifted to the effort applied.

Tep Hf T AT 31gUTd 17, febq 7Y AT & fefq 38TY 7Y MR T 377uTd 2



Q 19 A ladder is resting on a rough ground and leaning against a smooth vertical wall. The force of friction
will act

Tep HIGT febelt 7 STHIT TR 3R & X8 € 3R e faifebil @t SR b f&eTTh gebra 81 Bo0T gt It P
czull

Ops: A. Downward at its upper end

TP W IR W T A 3R
B. Upward at its upper end
3P FWT FIR IR FR HI 3R
C. Zero at its upper end
3Hb FWT R W =
D. Perpendicular to the wall at its upper end

g% FHWI Bl W IR I dddd

Q 20 A number of forces acting at a point will be in
equilibrium, if

Uep fdg W 31T Il & U FeR HdeT | &l ST, 3R

Ops: A. All the forces are equally inclined

Tt 9T THME BY F b gT E

B. Sum of all the forces is zero
Wit Tt 3 T o= #

C. Sum of resolved parts in the vertical direction is zero (i.e. 2V = 0)
SR e § g fhg T ¥l BT AT = & (i.e. ZV = 0)

D. None of these
S0 § BIg | TEl

Q 21 If an average person jogs, he produces 14.5x103 cal/min. This is removed by the evaporation of
sweat. The amount of sweat
evaporated per minute (assuming 1 kg requires 580x103 cal for evaparation) is
Ife BIS AT Afdrd HeR Tfd T IetaT 2 df 8 14.5%103 cal/min. & arsy9 HdT &1 I8 H™T 9HI & s
F 2RR F A STt 81 I 91d g1 o 1 kg T & arsqe & fg 580% 103 cal @1y d« ufd fAee arfsia
TR BT gRHATT §

Ops: A. 0.25 kg
B. 2.25 kg
C. 0.05 kg
D. (0.20 kg



Q 22 An aluminium sphere is dipped into water.

Which of the following is true?

fesdit UgfHiAam & Tiet ol Siel § garam T 81 Hfeif@d # BiH-91 e[ a0 & ?

Ops: A.

Buoyancy will be less in water at 0°C than that in water at 4°C.
4°C STl &1 etT H 0°C STl H 3ceATd-dT BH il |

Buoyancy will be more in water at 0°C than that in water at 4°C.
4°C STt I g1 § 0°C STl H 3ccATd-ar 31fees gt

Buoyancy in water at 0°C will be same as that in water at 4°C.
0°C ST H 3&TTaqdT 4°C STl @l cTadr 31feds gl |

Buoyancy may be more or less in water at 4°C depending onthe radius of the sphere.

4°C ST § IccTadT H a7 37 gFT Mol &l fHsar i) R g

Q 23 Heat is associated with

T gl Bl &
Ops: A. kinetic energy of random motion of molecules.
3073t Y AT T B ST Felf A
B. kinetic energy of orderly motion of molecules.
370737t Y afeRr i B e Fotf F
C. total kinetic energy of random and orderly motion of molecules.
HUL3T B ATgfeded Td AaRed Tl @Y et st Joff Al
D. kinetic energy of random motion in some cases and kinetic energy of orderly

motion in other.

$B YR H ATGIBP Tl BT IfdST FHoll F qUT 31 Gl H Fafxed Tfd bt midst SHeff J1



Q 24 A man squatting on the ground gets straight up and stand. The force of reaction of ground on the
man during the process is

STHI TR 3ebg ST §31T Ueb cfchl 35ehY TTHT WST BIdT &1 $H WfshdT H eAferi TR o7 aTell et &1 ufdfehar

Bl
Ops: A. constant and equal to mg in magnitude.

3rgRafdd T&ar & 3tk gR|Tor § mg & sRTeR 8iaT &1

B. constant and greater than mg in magnitude.
sraRafdd YgdT & 3R uRHToT § mg & 31feies BT 21

C. variable but always greater than mg.
YR gRad! gig IRATT § ¥¢d mg 4 31fdd

D. at first greater than mg, and later becomes equal to mg.

YRY H mg ¥ 31t grdT § W §1& H mg SRTeR &1 ST 2

Q 25 Which one of the following statements is true?

AefafEd § BH-A7 BT I 8 ?
Ops: A. A scalar quantity is the one that is conserved in a process.
sifeer wfer ag Bt € S faseit wfehar ® wRfeid et 81
B. A scalar quantity is the one that can never take negative values.
srfer el ag Bt & forgesT A Berft FoTleTds 78! &) ATl
C. A scalar quantity is the one that does not vary from one point to another in space.
srfeer wrfel ag gidl & forgest A1 31eprel § e fag A g feig W 78! geetar|
D. A scalar quantity has the same value for observers with different orientations of the axes.

1f&er 3rfer 1 | 31af 9w fafi= fa=mat ® fea Derp! & fav IuM 8T 2

Q 26 A box has 100 pens of which 10 are defective. What is the probability that out of a sample of 5 pens
drawn one by one with replacement at most one is defective?

U g1 § 100 BaTd &, f9d T 10 ™ TR 21 59 1d P! UTiiddT &7 & fob ufdwemfua & I fby veps-
T deb fepTel 7T 5 Betdl & ol T 7 311 & 31fds 1 v &R &,

Ops: A. (0.9)5
B. (0.5 x (0.9)4
C. (0.5 x (0.9)5
D. ( (0.9)5 + 0.5 x (0.9)4



Q 27 The average of five numbers is 62. The averae of first two numers is 59 and that of last two numbers
is 63. Find the third number.
Ui T3 BT 371d 62 &1 Uga! &l T3l &7 31RId 59 7 3R 3ifdH & Fwamsil &1 3id 63 &1 TNl I8

SIGIGE
Ops: A. 62
B. 66
C. 63
D. 64

Q 28P, Q, R, S and T are consequtive even numbers in increasing order. The sum of R and T is 184. Find
the value of P.
P, Q R, S3R T 9&d gV hH # shifHcs TH WU ¢, R 3R T &1 AT 184 81 P AT 1|

Ops: A. 80
B. 84
C. 88
D. 86

Q 29 What can replace the question mark (?) in the following question?

FAAfafEd 927 § U9T famg (?) B! fhax wfawita fsar S dabdr g ?
74362 x 93 = ? x 53206

Ops: A. 120
B. 125
C. 310

D. 130



Q 30A and B can do work in 12 days, B and C in 15 days and A and C in 20 days. In how many days can
A,B and C together do the work?
A 3IR B U &I & X B H 12 GT od €, B 31k C 15 &7 3R A 31k C 20 &7 &1d 21 A, B 31R C fRda=
39 B Pl fdsaq AT § BT ?

Ops: A. 9 days
9 f&ar
B. 12 days
12 et
C. 10 days
10 &t
D. 5 days
5 f&ar

Q 311n a college, 30% students fail in physics, 25% fail in mathematics and 10% fail in both. One student
is chosen at random. The probability that she fails in physics if she has
failed in mathematics is
fopeit weTfdaera #, 30% faamelf Wifaews fagm 7 sidiof e | €, 25% Tfoia # /il gid & aaT 10% A
fawal # 3rgctofl gid 81 Uep faenmelf argesar g1 SI1dT €1 9 a1d &l UTfidhdl & a8 Hifde s § srdiof 8,
Ife, ag Tford & 3ol 8 I 2l

Ops: A. 1/10
B. 2/5
C. 9/20
D. 1/3

Q 32 At what rpm should a lathe be run to give a cutting speed of 25 m/min when turning a rod of
diameter 32 mm?

U TRTE I fdsd rpm TR IA™™IT ST A1feV dTfds 25 Hiex / fiFe & fd &Y 1fd 32 fAft g &t tds B8
BT 1T B ST b ?

Ops: A. 100 rpm
B. 160 rpm
C. 200 rpm
D. 250 rpm



Q 33 Seamless tubes are made by

HHH R 74 gRT 9478 STt 8
Ops: A. piercing operation

CEEEE

B. hot forging
e BIfSiT

C. power rolling
qTaR el

D. none of the above
IR H J DI TE

Q 34 Which material is used for making electric magnets?

faggagrres & v foodr aref o yger fosar ST &

Ops: A. Grey cast iron
U PR 3R

B. white cast iron
e BRE 3RRA

C. malleable cast iron
AT BRE 3R
D. pig iron
forr 3R

Q 35 Cemented carbide tools are not used for machining of which of the following?

s Prafee ¢ [ # 4 fog Pl Heré & iy 3uger T8 2 ?

Ops: A. Steel

el
B. Cast iron
PIRC AT
C. Brass
et
D. Aluminium

QegHIfam



Q 36 German Silver is mainly alloy of which of the following?

STHA fAeer 43 ®u 8 7+ &1 Ay urg @

Ops: A. Pure Silver
NrACIC
B. Silver and Copper
EIREISGIEN
C. Nickel, Copper and Zinc
e, aar 3R ST

D. Silver and Gold
gt 3R AT

Q 37 Copper is:
GIELES

Ops: A. Difficult to be welded by spot welding
feig afeST BT gfedhet &
B. Easy to be welded by spot welding
feig AfceT & 31 3
C. Suitable for spot welding
firg Afcem & fore ugam &
D. none of the above

T A B1S ff T

Q 38 Which of the following has lowest melting point?
79 ® § O TaHie 999 B9

Ops: A. Copper

GIEH

B. Brass
qraet

C. Brazing Solder
ST Hlesx

D. Soft Solder
g dlee’



Q 39 The oxygen cylinders are:
fafeier o™ sifeRftotT Wt STt 8, d -

Ops: A. made by casting
TATE GRT Wfsihe fHd gU 8l &

B. made by welding

AT gRT Bfbe 5 U A &
C. made by forging

ST gRT thfaiehe 53 g7 8 &

D. seamless steel cylinders

HiHew Kol fAfeie? 81d 8

Q 40 Cast iron & steel pipes are casted by -
SAdT dle 3R ST DI UTgY Eail SiTd -

Ops: A. Die casting

TS ells GRT

B. True centrifugal casting
T 3Ubled el GRI

C. Permanent mould casting
TS BT SATS GRT

D. Slush casting
T2l TS GRT

Q 41 The increase in hardening by cold working is called-

3UET BUUT YehH GRT HaRal H Jlg dadrdl © -

Ops: A. Work hardening

g greHT

B. Hot hardening
st wrSf

C. Cold hardening
Pleg greMHT

D. Age hardening
NI



Q 42 Whenever the surfaces in contact tend to move or move with respect to each other, the force of
friction comes into play

STd Ueh-gHY b HUS # HIY Y TS AIUST TTfd &3 AT TIfd B &b Hgfd & ol &sor et

Ops: A. only if the objects are solid.
Fad T BRI BaT € ST JGT 1 B

B. only if one of the two objects is liquid.
el MY BRI BT & STel AT a¥g3T § F Vb &g gl
C. only if one of the two objects is gaseous.
Pael Ml BRI BT & ST QAT GGl H F vep W 2
D. irrespective of whether the objects are solid, liquid or gaseous.

9 R R 7E ot fob avgq o, @ ar i &

Q 43 Motion of a ball bearing inside a smooth curved bowl, when released from a point slightly above the
lower point is
fepdft afur Ifea afshd WTell & 3ieX STq fobdl STcfdaR™ o1 38 ([HdH foig & SRTHW I BIeT SIIdT & af
EREARIGH

Ops: A. simple harmonic motion.

I 37ad T eIl 2l

B. non-periodic motion.
3HTad! Tid 8l &l

C. periodic motion and simple harmonic motion.
3Tad! G IRl 37dd Tfd 8idl &l

D. periodic but not S.H.M.
3Tad! a1 8T & URg IR 371ad Tid T8l it

Q 44 Which of the following statements is incorrect?
fAAfafead & ¥ ®F-T7 B2 Tad & ?

Ops: A. Friction acts on a ball rolling along the ground.
HeT H fedbd! 1a W TYUT §cf @TdT 2l
B. Friction acts on a boat moving on water.
U # Tt gS A1 W YT gl AT 2l
C. Friction acts on a bicycle moving on a smooth road.

It Fgh W Ted! g8 dTSHebel TR T Fcf oIl 2

D. Friction does not act on a ball moving through air.

AT H IeAd! gS e W g0 §ef TE 7T 2



Q 45 An object of mass 2 kg is sliding with a constant velocity of 4 m s-1 on a frictionless horizontal table.
The force required to keep the object moving with the same velocity is

2 kg S BT B1S fUue fobdil avurgl fdst #51 R 4 m s-1 & 7gd 97 4 {thHel 381 81 o9 a¥g fob gt amm
q Tfd FATG I&A & AT AT92Tb e &

Ops: A. 32N

B. ON
C. 2N
D. 8N

Q 46 A girl stands on a box having 60 cm length, 40 cm breadth and 20 cm width in three ways. In which
of the following cases, pressure exerted by the box will be

BIE deh! 60 cm TR, 40 cm IS TeUT 20 cm I febelt FTerg TR A &1 A Bel grdt 21 ST GRT oTTTaT 7T

4G
Ops: A. maximum when length and breadth form the base

q« 3fedH BT STd 3R WIS d digls J 97 8

B. maximum when breadth and width form the base
a9 31fiepdd g STg YR Ttere g 3976 T a1 &

C. maximum when width and length form the base
a9 3rfiedd BT ST 3R 397E T oa1s J 97 &

D. the same in all the above three cases
SWRI AT YBROT H FHH BT

Q 47 An electric kettle consumes 1 kW of electric power when operated at 220 V. A fuse wire of what
rating must be used for it?
1S fag[d et 220 V IR Fafeid 814 W 1 kW fagd erferd 3Tderd ict 21 38 fay by 3rgHdid & WIS
IR &7 39aT fosar ST TTfey ?

Ops: A. 1A
B. 2A
C. 4A

D. 5A



Q 48 The focal length of the eye lens increases when eye muscles

T o BT U gt gfg B St @ 579 A < afer:

Ops: A are relaxed and lens becomes thinner

forfera grdY € dem g udeT 8 Sidr @

B. contract and lens become thicker
Apedt € aaT «d AT &1 SI1dT @

C. are relaxed and lens becomes thicker

forferet Brdt € dem &g AT 8 SIraT @

D. contract and lens become thinner

Ripedt € e o uder & far ¢

Q 49 What is the maximum resistance which can be made using five resistors each of 1/5 Q?

UTer wfeRTeret, fSH Uies &1 UfcRTe 1/5Q €, &7 3UaNT &3d b 31feiesan UfaRIer a7 ST HebdT & ?

Ops: A. 1/5Q

B. 10 Q
C. 5Q
D. 1Q

Q 50 The sum of the digits of a two-digit number is 9. If 27 is added to it, the digits of the number get
reversed. The number is

2T 3T DI b TAT P 3ihT BT AT 9 21 AT SN 27 SiTS, dl 39 JAT & 37 Yaic Sfid &l g8 IT &

Ops: A. 25
B. 72
C. 63

D. 36



Q51(x2 + 1)2-x2 = 0 has
IHIHT (x2 + 1)2-x2 =0

Ops: A four real roots
F IR IIATdH I &
B. two real roots
& A IRAfAP q 8
C. no real roots
F PIE IRAfdP JA &l &
D. one real root.
P U qRAldD Jd 8

Q 52 If the numbers n-2, 4n -1 and 5n + 2 are in AP, then the value of nis :

Ife FWATT n-2, 4n -1 3R 5n + 2 Tt AP & € @1 n o7 79 2T

Ops: A. 3
B. 2
C. 1
D. 4

Q 53 The point which lies on the perpendicular bisector of the line segment joining the points A (-2, -5)
andB (2, 5)is
fdg3ii A (-2, -5) 31R B (2, 5) &I fA@H dTel 1&TES & oid FHIgHTSTh W d T fdg @

Ops: A. (0, 0)

B. (0,2)
C. (2,0
D. [ (-2,0)

Q 54 If the points A (1, 2), O (0, 0) and C (a, b) are collinear, then
e fdg A (1, 2), 0 (0, 0) 3R (a, b) W@ &€, ar

Ops: A a=>b
B. a=2b
C. 2a=D
D. a=-b



Q 55 If sinB - cosB = 0, then the value of (sin4 6 + cos4 0) is
If& sinB - cosB = 0 2 al (sin4 8 + cos4 B) BT HIF &

Ops: A. 1
B. 3/4
C. 1/2
D. 1/4

Q 56 If the perimeter of a circle is equal to that of a square, then the ratio of their areas is

Ife G gl T IRATY, Teb i b TRATT & aRIeR &, dl 39 SFhai Pl 10T 2

Ops: A. 22:7

B. 14: 11
C. 7:22
D. 11: 14

Q 57 Twelve solid spheres of the same size are made by melting a solid metallic cylinder of base diameter
2 cm and height 16 cm. The diameter of each sphere is

TR T 2 cm 3R 3a1$ 16 cm dTel ¥Td & T 31T S B {Ueel X THIHTY & IRE 31 el g1 ST
g1 ISP el &1 AT 81T

Ops: A. 4 cm

B. 3 cm
C. 2cm
D. 6 cm

Q 58 The number of possible outcomes when a coin is tossed 6 times is

TfE T b &Y 6 IR IBTAT SITAT & a1 THd TROTHAT &l T gt

Ops: A. 36
B. 64
C. 12

D. 32



Q 59 The two successive terms in the expansion of (1+x)24 whose coefficients are in the ratio 1:4 are

(1+x)24 & 9GR H 3 ITRRR U<, {59 & Turiepl &1 33u1d 1:4 8, FAmfeifed g

Ops: A 3rd & 4th
TRIRT 3R e

B. 4th & 5th
gterr 3R gTaat

C. 5th & 6th
YTaar 3R BoT

D. 6th & 7th
BT 3R Irddi

Q60Iff(x) =1+ x+x2+ x3 ...+ x99 + x100, then f' (1) is equal to:
TRF(X) =1+ x+x2+x3 ... +x99 + x100, a¥ f' (1) &7 4F B

Ops: A. 5050
B. 5049
C. 5051
D. 50051






